EARAROBEEIERT — 2 N— IBISH —F

2016%4H6H (k) 1EEHMH2H

B C1 Y5%R4m Lt (xwlw | lmEmml - |5 5) wom 8
[AE4£] 17 :400,000  ~ 23%&:9,000”  33&:48,000” 437 :32,000H . 5 7&:24,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
=+ # 4 | TERE 1:31.8 6-6-4-2 | 40.1| — 3 470 | BAEER (FEH)
115]5 FhACL AT 54.0 (=) (-1) #8) HimRockRacing
L:viNyBLHTr B:xv A0 H—I N=tie]
= ihEd :31. === . — RmfR (FiH)
olglg Yo —B—F TS 4 4 i 1(/:\31}33 2-2-1-1 | 40.6 1 (4:320) i
LN=VT54 B:yxr—2—IN1/x— RAREHS
S B 5 | HEREX 1:32.2 7-8-7-4 | 40.4| — 4 432 | BEERER (EH)
N ARSI ST 540 5o o | =
R:TF14—T2h4 B:d-ILFLNEXX ke
—s 2PN . —4-3- = RFRX (EA)
4 0| XFaTRYTF— i 5 e 1.(373).3 5-4-3-5 | 41.8 6 ;1:337) SN
LT RIAY T v B g AHAT B)l14%%
R ) WA= .33 -9-8-— . — WRIET (FEk)
s 4 Ea7EY S N IR Ry | 9oEE 409 ! fﬁi R
iRzl BiNyII—7T #HXEt /-2
v S, o N 46 | JIRE— 1:33.6 4-5-5-6 |41.9| — 5 473 | EBAZ (EM)
6|7|7|Nv¥a~ _ 54.0 (1 1/2) (7) | EHES
R:7I7V—h BTz A—ILTIL— peleie)
» = — o4 | ENEE 1:33.6 1-1-2-3 | 42.5| — 2 420 | ABRE= (ER)
71818 N¥F /L1475 = 54.0 (74%) 1) ZEERT
XD THANAIN BNXIRISK=I KB
er i 6 | NEEF 1:35.4 3-3-6-7 |43.9| — 8 421 | EEBAME (EIMA)
3 | FvXO>TF7T— 54.0 (414) () |8 F-LHNZ pEE
Lixfagk—-5— B:x8/757— BEHEERS
_ B Si—E . _7_0— _ WRissE (k)
9l1l117V2274K=n it 5 Y 1.(335).9 7-7-9-9 | 43.8 9 zzs)s S
R:TZ79 784K BNFEAXF)— alllkie]
® I—F—@EBIERL
13—7F— 8,9,6,7,2,5,(1,3),4
Ao=5"= 8,9,6,2,7,5,1,3,4
30—74— 9,8,2,5,7,6,3,4,1
41—F— 9,5,8,3,2,7,6,4,1
[ RN
B 5 440M 794K 5-9 170M & 5-8 190 &R 3-5-9 460M
# B 5 110M & 220 B E 5-9 4108 EE 5-9-3 2,000
9 1004 3-9 190H B H 5-9 850M
3 1209

ABICOVWTRDTEEERROODE. TR LIV,




